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1.
mtITTUT � � � f4f?i3ta � � � tr.t
10 qt{ -q � m '3flm i, m � � 'ij
� � m \J114JII ?

(A) 15 cf'f

(B) 2ocflf

(C) 2scflf

, (D) 30 cflf

2. -� � msrt -a� i �mun� -rntt
i�msrt���t��

��t,m�t

(A)�-��

(8) cfilJ.fd -a ffli1"

(C) ���

(D) ��mil"

. {(s-4✓
3

) cn1 q•fq:_ct �

(A) (2-✓
3

) 

.• (B) _(2 ✓3 -1)

(C) (-./6-✓2 )

1. On a fixed rate of simple interest an
amount is doubled in 10 years. In how
many years will it be tripled ?

{A) 15 years

(8) 20 years

{C) 25 years

{D) 30 years

2. If Shaloo is taller than Rakhi but
shorter than Prerna and Rakhi is as
tall as Meghna but taller than Kamal,
then Meghna is

3. 

(A) Taller than Shaloo

(8) Shorter than Kamal

{C) As tall as Shaloo

{D) Shorter than Shaloo

The square root of ( 8 - 4✓
3 ) is

{A) (2- ✓3 )

(B) (2✓3 -1)

{C) ( ✓6 - ✓
2

)

(D) ( ✓6 - ✓
3

)(D)
3

( ✓6 - ✓ )



4. �A,B,C��q{���
fziieq,I � 0 t cJm LAOB = 90° 1V-f

LBOC = 120° t oif LABC � t

(A) 60°

(8) 75°

(C) goo

(D) 135°

5. ffliT -a ffliT m§!IT Ntechl 594 -ij � tf\
<-111T��qlf��, t

(A) 1

(8) 5

(C) 25

(D) 31

6. 3Titr � m 5141J l�llfi I -ij q,14{a � I �
�-ij����GJ:f���
cf>m fcf><n � 3ltt � cf>m � 51fa ftaa �
-q $1q,l�I� � � �- I 3lTtr cfm � ?

(A) � � � 3ltR ';J1lf � 5iq,l�ld
�

(8) � � H@ct>l -ij � ";fllf tjt
����

(C) 3ltR � cii) ata,® � � ocf>
3TitJch1 e6H@q, � � �, �
� � 51q,1a.,a � efiT � �
wt

(D) 3l� co) 3ltR° Gil tf\ � Stchl�ld
� � � S121«·1l�d efm

2-D

4. 

5. 

6. 

t 4 l 

• cle
If A B Care three points on a cir 

' ' 
-90

°

with centre O such that L.AOB -

and LBOC = 120° then LABC is

equal to 
(A) 60°

(8) 75°

(C) goo

(D) 135°

The smallest number that should be 
added to 594, so that the sum is a 
perfect square 
(A) 1
(8) 5
(C) 25
(D) 31

You are working in a research lab. One 
of your subordinates has done some 
good work on her own and the work is 
worthy of publication in a prestigious-
journal. What will you do? 

(A) 

(8) 

(C) 

(D) 

Will take all the data and publish 
in your name 

Will ask the subordinate to add 
your name as one of the authors
Will tell your subordinate that 
unless you are made a co-author, 
you will not allow her to publish 
the paper 

Will encourage the subordinate 
to publish on her own 



  ����-ij, �� S1 cf S2�
1. 

�� lcfll��� l��s1

amS2cITT�fi�����

(A), (B), (C) om (D) -q � �-m �

��� Fich�dl �?

�=

(A) �I

• {C) mm Im II

7. In the following question, two statements

s 1 and S2 are given followed by two

conclusions I and 11. Taking the two

statements S1 and S2 as true, decide

which one of the answer (A), (B), (C)

and (D) logically follows ?

Statements

S1 All pens are chalks.

S2 All chairs are chalks.

Conclusions 

I. Some pens are chairs.

11. Some chalks are pens.

(A) Only I

(B) Only 11

(C) Either I or 11

(D) Neither I nor II



8. � � � 3l'RJ� 1Tfu@ � 1RT&n -q
�i ,��f.tRt: 

�cfft 
3m:@� � � 

I 60 75 
II 48 80 
Ill X 55 
IV 40 50 

�����cnr��66 

t "ffi� 111-a���zj&rJ xi

(A) 60

(B) 55

(C) 50

(D) 52

9. �->IBf;cTT-q Zl1Hi{$fcf>( � -q �-�

'cf>8T cf,�(11(11 i

(A)� 

(D) 3ll@"ffi

2-D 
[ 6 ] 

8. 
. ppear in Candidates of four schools a 

a mathematics test whose data is as

follows: 

School 
No. of A'1erage

Candidates score

I 60 75 

II 48 80 

111 X 55 

IV 40 50 

If the average score of the candidates 

of all the four schools is 66 then the 
number xof candidates appeared from 

school 111 is 

(A) 

(8) 

(C) 

(D) 

60 

55 

50 

52 

9. Purposely manipulating information in

communication is called

(A) Filtering 

(B) Assertiveness

(C) Deviance

,.fD) Abstraction



10. A. P, R, X, S 3iti: Z � t:if.ffl � � t I

S� Z ��i-am A3fu: P"OO:tRt I 

R,A$� 3'.fi�t, m P�� 3m

��t? 

(A) A

(B) S

(C) X

(D) Z

11. �al1Glfi-;rrcr�mu��20M

2 'ER -q � mu � 51 @<fH 4 fcntfi 2 eiz

-q � � t I � � � ;rrcr � efiT

� 1ITTf mrft 

(B) 6 M/-ri.

(C) 8 M/-ri.

10 M/-ri. 

1 0. A, P, R, X, Sand Z are sitting in a row.

Sand Z are in the centre. A and Pare

at the ends. R is sitting on the left of A.

Who is sitting on the right of P ?

(A) A

(B) S

(C) X

(D) Z

11. A man can row a boat 20 km in 2 hours

in down stream and 4 km in 2 hours

in upstream. The speed of rowi.ng the

boat in still water will be

(A) 4 km/h

!Jiio/ 6km/h 

(C) 8 km/h

(D) 10 km/h



12. -zyrr � � �3TT efit � :

63, 65, 67, ... 3ttt 3, 10, 17, ... ��-�

�cfil"J:JH�mlll?

(A) 12

(8) 13

(C) 14

(D) 15

13. � �J.ft�R -q �, "3{ � �-q

��� 45, 75� 135i I

� l-f1il��d ffl � � �lq�4cfi cfillU

cfiT � � -Mt' � � tPR -q

�cfit�mrr��m?

(A) 17

(8) 255

(C) 65

(D) 135

2-D [ 8] 

12. Which of the terms of the two series :

63, 65, 67, ... and 3, 10, 17, ... of

ascending numbers are equal ?

(A) 12

(8) 13

(C) 14

(D) 15

13. In a seminar the number of participants

in English, Urdu and Sanskrit are 45,

75 and 135. What is the number of

rooms required to house them, if the

number of the participants in a room

and their language are same?

(A) 17

(8) 255

(C) 65

(D) 135



14. ��' f�m4il � 8.4 i.1:ft. 31tt 3TI'QR

"4i)-� 2.1 i.1:ft. t q11 fcl�cilch(�Tfrffi

� � t I� "4i)-� t

(A) 4.2 i .lft.

(B) 2.1 i.lft.

(C) 2.4 i.1:ft.

(D) 1.6 i.lft.

15. �� A, B, C, D, E 3lR: F -ij���

�-crft@-q3IB1l-3IB1l��� IC

� A31tt E-a � 3rco>W-Ofcf;Q: JO ;t

� 8 "{f � 3F-n >W-0 fcf;Q: I E � �

� 3rco >W-0 � � I � � "{f

� "f2TR • 1R 3rco "5111-0 fcf;Q: � 81 3l"cf>

"5111-0 � I E � 62 3lcf> >W-0 fcf;Q: I C �

�: 3lcf>t

(A) 70

(B) 94

(C) 86

(D) 61

2-D [ 9] 

14. A cone of height 8.4 cm and the radius
of its base as 2.1 cm, is melted and
recasted into a sphere. The radius of
sphere is

15. 

(A) 4.2 cm

(B) 2.1 cm

(C) 2.4 cm

(D) 1.6 cm

Each of the six friends A, B, C, D, E 

and F scored differe,nt marks in an 
examination. C scored more than only 
A and E. D scored less than only 8. 

E did not score the least. The one 
who scored the third highest marks 
scored 81 marks. E scored 62 marks. 
C's possible score is 

(�) 70

(B) 94

(C) 86

(D) 61



16. 3lm'��cfil���mtft, �
�"9""{���3rnfu����
���3mTT I 3m��?

17. 

2-0 

(A) � � "9""{ � � � � � � cfiT

� i � � � d-lj�ll(-H q;J

1Til@T i

(8) �������

��t ��1R1((����

�wrr

(C) q;Pl � � (-1li$tl�� � �
l-1�14di � � � l-1�14cfi �

(D) �-�rcn��cnllf'cfilcf>G�

� � � ftj�tst;ftol cJiT cf>lfi" �

m, 3l1tffi � �

� (x-1), 4x3 + 3x2 
- 4x + kq;J � 

101.:i@os t m kq;J lfR i

(A) 3

(8) 4

(C) -3

(D) -4

[ 1� 1 

16. You assigned a new piece of work to
a junior who objects to it saying that
she does not know how to do it. What
would you do ?

17. 

(A) Insist that she has to do it as it is

a matter of office discipline

(B) Force her as she is merely making

an excuse, so she has to do the

assigned work

(C) Explain the nature of �ask and give

her an assistant to help her

(D) Ask her to discuss with you,

where she lacks the knowledge

or expertise to tackle the task

If (x-1) is a factor of 4x3 + 3x2 
_ 4x + kI 

then the value of k is 

(A) 3

(B) 4

(C) -3

(D) -4



18, <ft 1lt • -q � cfil � 7 � .lft. t

19. 

2-0

L.BAO = 25° cfm LBCO = 35°t 1
�� OADC_ q,J � t

(A) 

(B) 

(C) 

B 

D ' 

539 
wri.m.

9 
� 

308 
wr i.m.

3 

154 
wr i.lft.

3 

(D) 48 wf i.lft.

� 246 * 2::: 6, 870 * 3 == 11, � 735 * 5

cfiT ltH t 

(A) 16

(8) 3

(C) 5

(D) 12
[ H 1 

18. In the given figure, the radius of
circle Is 7 cm and L.BAO = 25°: 

19. 

L.BCO = 35° then area of sector 
OADCis 

B 

(A) 
539 - sq.cm

9 

(B)
308 � sq.cm

3 

(C)
154 - sq.cm
3 

(D) 48 sq.cm

,,-

If 246 * 2 = 6, 870 * 3 = 11, then the 
value of 735 * 5 is 

(A) 16

(8) 3

(C) 5

(D) 12

D ' 



21. 

2-D 

{A) 36 

(8) 35

{C) 34 

{D) 32 

� � 3ltH m � 4 M '5Jfa cR � Tffu

� � t � 3ltH � 5ftRc � �
q�-qdl t I�� Tffu 5 M '5Jfa eRJ

I 

m, -a1� 1o����t �
m����t

{A) 3 � 

(8) 5�

(C) 6M

(D) 4�

[ 12] 

20_ The number of triangles in the below 
given figure is 

21. 

{A) 36 

{B) 35 

{C) 34 

{D) 32 

A student walks from his house with a
speed of 4 km per hour and reaches his
school late by 5 minutes. If his speed
had been 5 km per hour then he would
have reached 1 O minutes early. The
distance of school from his house is

(A) 3km

(8) 5km

(C) 6km

(D) 4km



tJftclR l1 �-�, � � �, Gt
 J1tt � � .frr ifl;i � i I lfitm 

3TTt€tfflt

5

6

7

10

 �llV-41Gtt> � � �ma� I
�� ft�;q cnT Pf�fcta � �
 � � � � fl�;q cnT Pf�fcta
� � C � � frlll(c41Gcf>"i �
 q;) Pf�fqa � i, m � �

�3TIWt
✓ 

[ 13) 

22. There is a family consisting of a
husband and wife, their three sons,
two daughters and three wives _of
three sons. Number of women in the
family are
(A) 5

(B) 6
(C) 7
(D) 10

23. Most guitarists are bearded males.
If A represents the set of all males,
B represents the set of all bearded
males and C represents the set of
all male guitarists. Then the correct
diagram for their relations is

(A) 

(C) 

(D) 



24. � � � PRS, TWY, X8E, 8GK, ?
-q�� (?) �fffi; ���I

(A) FLQ

(8) ELP

(9) ELQ

(D) FLP

25. 3lN � � -q � � � � tf\ �
m-qlfrl��i 1m��
���-�� t4Hilj��H (�
4;R;�1f;i11) ����� I Pi�R:ifurn

-qi�-m�-ij��i?

(A) �fl<1{1 "qTffi �

(8) ����
(C} ��

(D) ¼.siltf>(OI mtcr � � � �
�

2s. ������w��
"tf>RUT���@i«Jtf;(�TFTT� I�
� Si@fsfi;q, mrft ? 

2-D

(A) �rl1'PT��

(8) csf@J«ilfl � � 'q � �
-e �icfil;qa � 

(C) �cfilfllfi B 3 .. fct�1< � � 3llftrtt
3lc:R=R�cnI3ljOtr�

(D) at@h,�•O qpra fuo: � ocn
�-�$dlcl tR �

[ 141 

Select the correct alternati�e for24. 
h missing term (?) in t e series. 

PAS, TWY, X8E, BGK, ? 

(A) FLO

(8) ELP

(C) ELQ

• (D) FLP

25. You are attending a meeting on the rise
of bad elements in your district. The
meeting is continued with good lighting
arrangement as well as with proper air
conditioning etc. Which of the following
is not a barrier to the communication ?

JA1 Noisy atmosphere

� Congested space 
-, . '2f Improper medium

(D) Asking questions to get clarification

26. You have been fired from the company for your act of taking long leave withoutprior information. What will be yourreaction? 

(A) Send your resignation
(8) Complain to the higher authoritiesabout firing 
(C) Request the authorities to give alast q�ance after reconsidering. \ 

(D) Go on hunger strike till you aretaken back 



7 
����-ij, KAVERl�VAKIRE2 
��t "at MYSORE en)���

��� 

(A) EROSYM

(B) SYMROE

(C) SYMEOR

28. m;r fcn(-11�1 � -cm:r· solm: 490 fcf>m,

588 -fcF,m � 882 fcf>m � t I �

� (�) � � .Pdl@T '� wrft

• -em� WJH �.� � ffi-q

(A) 98 "Pcnm

(B) 2oofeom

(C) 290feom

(D) 350 feom
[ 151 

27. If in a certain code, KAVERI is written
as VAKIRE, then in the same code

MYSORE will be written as

(A) EROSYM

(8) SYMROE

(C) SYMEOR

(D) None of these

28. Three farmers have 490 kg, 588 kg
and 882 kg of rice respectively. What
isJhe maximum capacity of a bag so

. that all the rice can be packed in bags 
having equal weight ? 

(A) 98 kg

(8) 200 kg

(C) 290 kg

(D) 350 kg



29. M � � 32 � '111T � � :n�q,{1 29

� m � a� 'll1T � � :n�q,{1 i

(A) 1

(B) 3

(C) 5

(D) 7

30. P, Q, R, S, T 31tt U � � � -;ncr -q­

� � <ITTrT � � � I � � $f Q, R

� T1-i�l11� � 31tt��� IP, Q, R

3TR T � �llcfil61<1 � � � 1-fil-1161<1

i I � Q, T 31tt U cfiT � 3lRfi t I
• I 

� 1-1ie1,n{) � � � � �, t

(B) U

(C) p

tn\ T 

29. A number when divided by 32, the

remainder is 29. The same when

divided by 8, the remainder is

(A) 1

(B) 3

(C) 5

(D) 7

30. P, Q, R, S, T and U are six persons

travelling together in a boat. Three of
them 0, R and Tare women and rest are
men. P, Q, Rand Tare all vegetarians

and others are non-vegetarians. Only
Q, T and U know the swimming. The
non-vegetarian male who does not
know swimming is

(A) S

(8) U

(C) p



 
31_ 

� a, b, c, d � e <!iT llTt2f 2a i aen

a, c � e cfil lTT1t2t 24 t mi b 3fu: d

q;r lW'A t

(A) 31

(B) 32

{C) 34

{D) 33

32. � '+' :cnT 3l?.f 'x' (�); '-' cf>T �

+ (�), 'x' cf>T 3l?.f. '+' (�) �

'+'q)f ·� ,_, (eRRT) if, m f..lt.1R1Rsio

°{=ltftq;{OI -ij -a �-m � �?

� + 6-4 X 2 +3 ::26

(B) 18 +- 6 + 4 -2 + 3 == 22

(C) 18 -6 x 7 + 2 + 8 == 63

18x6-4+7x8:::47

31. If the mean of a, b, c, d and e is 28 and

the mean of a, c and e is 24 then the

mean of b and dis

(A) 31

(8) 32

(C) 34

(D) . 33

32. If'+' means 'x' (multiplication),'-' means

+ (division), 'x' means'+' (addition) and

'+' r:neans '-' (subtraction). Then which

of the following equation is correct ?

(A) 18 + 6 -4 x 2 + 3 = 26

(B) 18 + 6 + 4- 2 + 3 = 22

(C) 18- 6 x 7 + 2 + 8 = 63

(D) 18 x 6- 4 + 7 x 8 = 47

[17]



33. 3lN � flicfot�cn � � � � �

�-ij���t I�� 31@lt �

� � �'{�fl -ij � 31tp:JR cRoT t I

�3IBlql�R��cfitR

� 4<!"1d � � � I 31N � cfAA ?

(8) ���� $1@�flq�c€t chl�l�I

�

<c) �wrr ���mam�m

�� 

34. ffl3n ✓2 I � I $, -ij � �

mi

2-D 

(8) �

(C) ef4

[18] 

33. You are working as a �nior manager
in Public Sector Unit (PSU). Your boss
comes and insults you in presence of
others. Besides that he Rromotes a

man, above you who is junior to you.
-

What will you do ?

(A) Resign from the post

(8) Try to take the revenge when right
opportunity comes to you

(C) Keep patience and ask the reason
when you find him cool

(D) • Tell the complete incidence to the
management committee

34. Out of the numbers ✓2 , �, ef4. the
largest number is

(A) ✓2

(8) �

(C) ef4

(D) All are equal



22 
35. If the area of a circle by taking 1t = 7 

35. ��� � 1s4q11wttim
22 

1C=7����i is 154 square centimeter then its 

(A) 33 "@ft

(8) 11 "@ft

(C) 22wfl"

• (D) 44 w:fi"

36. � (Ll)ABC-q AB=6✓3 -a.m.,

AC= 12-a.lft. � BC=6-a.m. �

q;)ur Bcl,TlfHi

(A) 120° 

(8) 60°

(C) 45° 

(D) 90° 

perimeter is 

(A) 33 cm

(8) 11 cm

(C) 22 cm

(D) 44 cm

36. In triangle (Ll) ABC, AB·= 6✓
3 

cm

AC= 12 cm and BC= 6 cm then the

angle Bis

(A) 120° 

(B) 60° 

(C) 45° 

(D) 90°



37. P3fu: Q tjiJl�i(-1 31tt � -ij � � I

R � P �B�lf1 � � # � � I

S � Q tjic-fl�lf1 � � # � � I

R, S 3fu: T �Bciti(vt 3ttt 3il�i(1 # �

� I � � �-m 1"@(11� � � #

�t?

(A) Q

(8) p

(C) S

(D) R_.

38. � �� az3 + 4.t2 +3z-4�

z3 -4z+ a tf>1" (z-3)� � cn8

lR WIH ffit@ "5IP=o mol t aaT 'a' cf>T lfR t

(A) -1

(8) 1

(C) -2

{D) 2 

2-0 
[ 20] 

37. p and Q are good at Volleyb'all and

Hockey. Rand _Pare good at Baseball

and Hockey. S and Q are good at

Volleyball and Cricket. R, Sand Tare

good at Baseball and Football. Which

player is good in four games ?

(A) Q

(8) p

(C) S

(D) Fi

38. If both the polynomials
az3 + 4z2 + 3z-4 and z3-4z+ a leave
the same remainder when divided by
(z-3) then the value of.'a' is

(A) -1

(B) 1

(C) -2

(D) 2



39. MmlfRcfil� f.l�a ���

���cfil 10%cnT�mfilt I

�mlfRcfil������

� 51fa�1a �t

(A) 20%

(8) 100%

(C). 120% 

(D) 140%

40. �i:

I. P,,Q�lirt1

11. R, P cn1�t I

111. S, Tcnl � ii

IV. T, Qcfil�i I

olJ $ cfi1 � t 

�

(8) Q

(C) R

(D) T

2-D

39. By selling a product at a particular price,

the profit to a person is 10%. If the

same product is sold at double price

the percentage profit is

40. 

(A) 20%

(8) 100%

(C) 120%

(D) 140%

Given that: 

I. P is the mother of Q.

11. R is the son of P.

111. S is the brother of T.

IV. Tis the daughter of Q.

Then grandmother of Sis 

(A) p

(8) Q 

(C) R

(D) T



41. � a=3+2✓
2

� b=_! � a2 +b2

cfiT 1fR t a 

(A) 36

(8) 34

(C) 38

(D) 34✓2. 

w.1�42���44ocn�� �: 
��zys-@ijfci;m�q;y 2011 'R 2020 
oq;fcmrn 5���"q;l (���ii) 
�� 1����0141Ra�� 
5 q"fl � � <6T oirT e>l41({%d � 3fJTt1 5 
-q�cm •. , 

60 

50 

40 

30 

20 

10 

55 

42. � Q� T TR 2011 -2015-ij oiTT �
RTR 2016-2020-ij "§:3TT "¥f � (�
q;m-q �. ) �

2-D

(A) 95

(B) 70

(C) 65

(D) 100

[221 

41. If a = 3 + 2✓2 and b = .:!_ then the
2 b2. a

value of a + 1s 

(A) 36

(8) 34

(C) 38

(D) 34✓2

Directions for questions 42 to 44 
In the below given bar  diagram the 
expenditure of a state from 2011 to 2020 on 
5 different items is shown (in thousand crore 
rupees). For every item the shadowed bar 
shows the expenditure for first 5 years and 
the unshadowed bar for the next 5 years. 
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42. . Total of the expenditures (in -thousand
crore) on the items Q and T tor

2011 - 2015 and on the item R tor

2016 -2020 is 
(A) 95
(8) 70
(C) 65
(D! 100 
' . 

. .. 



43. 1lG Q "TI: 2016 - 2020 if �, P "TI:

2011-2015-if��� S1Rl�H13lm

i ?

44. 

45. 

2-D

(A) 5%

(B) 10%

(C) 15%

(D) 12%

� � 1R 2016 -2020 if '§:3TT ¥I � 

(��if) 2011-2015if ��� 

�/q,qt 

(A) 13 q,q

(8) 13�

(C) 23 cfiJf

(D) 33 cfiJf

'k' � � m;r � � Pt&.1�f©a � 

eifl<fi(Oj � � � � ;r@ � (

3x+ y= 1 

• (2k-1) x+ (k-1)y= 2k+ 1

(A) 1

(8) 3

(C) 2

(D) 4

[ 23] 

43. What is the percentage increase in the
expenses on item Q for 2016 -2020
over the expenses on the item P for
2011 -2015?

(A) 5%

(B) 10%

(C) 15%

(D) 12%

44. The total expenditure (in thousand
crore) on all the items for 2016-2020
is more/less than that for 2011 -2015
by

(A) 13 less

(B) 13 more

(C) 231ess-

(D) 331ess

45. For which value of 'k' will the following
pair of linear equations have no
solution?
3x+ Y= 1

• (2k-1) x+ (k-1)y= 2k+ 1

(A) 1

(B) 3

(C) 2

(D) 4



46. � �m � � � 3liqt 1l � �

s���1l\� �ll 3TTtm: 
� 12���'R�cnt�t I�
��t 

(A) 7�

(8) 13�

(C) 17�

(D) 18�

47. �mm,��� cfc@T � �@lc:tl
3fu: • � "R UJr-r � <'n1: WT i I
� � # � -ij �m i

2-D

[ 24] 

46. In a storm the top of a vertical tree after
bending from a height of 5 metre frorn
the earth, meets the earth at a distance
of 12 metre in the horizon from its base.
The height of the tree is 

(A) 7 metre

(8) 13 metre

(C) 17 metre

(D) 18 metre

47. A listener is concentrating on the appearance and delivery style of thespeaker instead of the subject. In thiscase the barrier to listening is

(A) Jumping to conclusion ..

(B) Prejudging the subject

(C) Gathering only the facts

(D) Wrong focus



is. � � Pt�a � (cfc �) -q, 48. If in a certain code, GLAMOUR is

GLAMOUR cf>) IJCNMWP M � t written as IJCNMWP and MISRULE

� MISRULE� OGUSSNC � is written as OGUSSNC. Then

�i, m"3tfi��-q TOPICAL TOPICAL will be written as

M '5114JII (A) VMRJECN

(A) VMRJECN
(8) VMRHACJ

(B) VMRHACJ

(C) VMRJACJ (C) VMRJACJ

(D) VNRJABJ (D) VNRJABJ

49. �� 36�� �i Rrta,-n-a6� 49. A number is as much greater than 36
"cf;lfl��i as is less than 86. Find the number.

(A) 63 (A) 63

(8) 72 (8) 72

(C) 61 (C) 61

(D) 56 (□)- 56

50. -ey � 3Wf@-q cflTI <€r � fif>a;fl i ? 50� How many squares are there in the 
given figure ? 

(A) 20
(A) 20

(8) 14
(B) 14

(C) 16
(C) 16

(D) 18
(D) 18

2-D
[ 25] 



51. � � � �3lt � ���g)Ji � �J\8s

� 4 � �, mUf � �Jl8g � 3 �,

3il�R-MI � �R�i1Zit cfi1 3 � � I

�R$i1'31 � mUf cnT "fBt � 3fu m@ ;J

3il�Ri41 cfi1 � � � t I � �

"ITTGqfffi�t

(A) m«r

(8) �R$tl'31

(C) �JlJs

(D) 3il�Ri41

52. � 1 o M � � 3iR � i I �

����3ffi��i�

15 M � i I "J-f: � 3TCR � 3W

10M�t ,���arcR�

3fu:��i 3fu 20M�i I�

arcR��-a�M�'Cf\

afu��iji?

2-D 

(A) 25M�

(B) 35M�

(C) 45M�

(D) 35M�

[ 26] 

51. In sequences of cricket matches
West Indies defeated New Zealand
4 times, India defeated New Zealand
3 times, Australia defeated West Indies
3 times. West Indies defeated India
only once and India defeated Australia
once. The country which lost most of
the times is

(A) India

(8) West Indies

(C) • New Zealand

(D) Australia

52. Sohan walks 1 O Km East. Then he
turns right and walks 15 Km. Then he
further turns right and walks 1 O Km.
Then he turns left and walks 20 Km.
In which direction and how far away in
Km is he from his original position ?

(A) 25 Km North

(8) 35 Km South

(C) 45 Km South

(D) 35 Km North



53. A� 3Wf B � 3Wf � 25% 31m t, m

B "cfit 3Wl A cfit 3Wl � � � cnJf i ?

(A) 10%

(8) 15%

(C) 20%

(D) 25%

54. � � � � � � � -q 25%

� � � � � �-q 51fa:tld �

mrft

(A) 25%

(8) 25 %
16 

(C) 40.5%

(D) 56.25%

55. 'qT-q � A, B, C, D � E� eq1=qR

l:Bf � t I "11 ffi llffl � i � �

C qi) � i I "11 ffi � ij � i �

A�ffimi I E�cf@T�<JT�

� t I B3ltt At�� 1:ffi% �

B� eq1,:11< � fcfieaj).� ?

(A) A

(8) C

(C) D

(D) E

2-D [ 27] 

53. A's income .is 25% more than the
income of B. Then B's income is what
percent less than the income of A?

(A) 10%
(8) 15%

(C) 20%
(D) 25%

54. By an increase of 25% in the length of
each side of a square, the percentage
increase in its area will be

(A) 25%

(8) 25 %.
16 

(C) 40.5%

(D) 56.25%

55. Five men A, B, C, D and E read a
newspaper. The one who reads first
gives it to C. The one who reads
last had taken from A. E was not the
first or last to read. There were two
readers between B and A. B passed
the newspaper to whom ?

(A) A

(8) C

(C) D

(D) E



56. � a,b, c ��i3fu:(a+b+c)=O

(A) 1

(8) 2

(C} 3 

(D) 0

(A) 18

(B) 14

(C) 10

(D) 9

2-D
[ 28] 

56. If 81 b, c are all non-zero and

(a+ b + c) = 0 then the value of
2 b2 0

2 . 
�+-+- IS

be ca ab 

(A) 1

(8) 2

(C) 3

(D) 0

57. • How:many squares are there in thegiven figure ? 

(A) 18

.. (B) 14 

(C) 10

(D) 9



58. A, 8/ C, D, E � F � ml � I � � 58. A, B, C, D, E and F are cousins. No

������t�t�� two cousins are of the same age but

� \J1ri-f� � � � � � � � � all have birthdays on the same date

� i I mm fflcT 11 tff:f � i � mm of the same month. The youngest is

� E,22cff:f�t IF�� B3fu: Dt 17 years old and the oldest E is

�cn@t1 A�� B��t IC�� 22 years old. Fis somewhere between

D��t I A�cff:f C��t I� B and D in age. A is older than B.

D, 20 cff:f � t
C is older than D. A is one year older

(A) than C. Then

(B) F, 18cff:f�t (A) D is 20 years old

(C) F, 19��t (B) Fis 18 years old

(C) Fis 19 years old
(D) F, 20 cff:f � t (D) Fis 20 years old

59. 4 � � � � � 51fa�ia t ? 59. What percent of one rupee is 4 paise ?

(A) 4% • (A) 4%

(8) 0.4% ('?) 0.4%

(C) 0.04% (C) 0.04%.

(D) 40% (D) 40%

60. � 24, 21, 18, ... ����<WT 60. Sum of how many terms of the series

78m71T? 24, 21, 18, ... is 78 ?

(A) 5 err 12 (A) 5 or 12

(B) 7 err 14 (B) 7 or 14

(C) 4err13 (C) 4 or 13

(D) 6<n10 (D) 6 or 10

2-D [ 29] 



61. �� P, Q, R, S, T� U I oaitt T

�fa�l�ch � � , I Pafl\ Q � �

�� I P�����t IS�
�� �t I Pafu: Sttfa�1fuch �
�t l�--a����i?

(A) p3fu Q

(8) T3fu U

(C) R3fu:S

(D) 03'.fu: U

62. � oR cfi1' � �flcf>I � 1 -a:ifi. 3fu
� a-a:ifi. t � 1alft. ���
� � q;-r oR � � t I oR �

2-D

�mlft

(A) 

(8)

(C) 

(D) 

3� �--ifi.

_1 -a tft 15 • •

1 "' r.ft
20 

lL 

1� -a.-itt.

[ 30] 

61. There are six places P, 0, R, s, r

and U. Q and Tare not historical 
places. P and Q are not alike. Pis 
not a hill station. S is not a religious
place. P and Sare not historical
places. Which two places are
religious places ?

(A) Pand Q

(8) Tand U

(C) Rand S

(D) Qand U

62. A copper rod of diameter 1 cm anc

length 8 cm is drawn into a wire o
length 18 m and of uniform thickness
then the thickness of wire will be

(A) 

(8)

(C)

(D)

-cm30 

1 
15 cm

1 - cm20 

- cm10 



63. �� X, Y,Z3itt W���

� qf{qt�H � � ltl1TT 1;ci mq;ff �

64. 

2-D

��ti

I. x3fu: Y�q�$:rrwu

II. Y� W ��IDU

111. Y�Z �q�IDU

IV. X� W ��IDU

V. X�Z�rRIDU

Y� Wacf>�-mlWT�Wlll�

��� 33lFJ11-3lFJ11>1UllfficnT'3tMll 

"ITT? 

(A) Y-X-Z- W

(8) Y-Z-X- W

(C) Y-Z- Y- W

(D) ����

a2 c2
� a: b :: c: d oil 

- cf>T lfH tb2-d2 

(A) b¾ ac

(8) b1/a a2

(C) a
% bd 

(D) a¾ be

[ 31 l

63. Four cit.las X, Y, Zand Ware connected
by different routes and different modes
of transport as given below.

I. X and Y by both boat and bus 

II. Yand Wby air only

Ill. Yand Zby air and bus

IV. Xand Wby bus only

V. X and Z by train only

Which route would be possible from 
Y to W so that atleast 3 different modes 
can be used? 

(A) Y-X-Z- W

�-Z-X-W

(C) Y-Z- Y- W

(D) None of these

64. If a: b :: c: dthen the value of.

(A) bdl 
lac

b2/ (B) / 82 

(C) a¼d

(D) a¾c



... 

:.. 

65. � ��chl � � -ij 20 � co1 � � I
5��,������
cfit � � 5 :FT � I � qctqH �
�:i 

JM 30�, 10� 
(B) 25�, 5�
(C) 29�, 9�t
(D) 40�, 20�

� ft&.4166, 67 3m68���:
� � TRrr 9i$-qll � � � � � �
it � "@<'IT � � Tf1l; � t!il f.l-E>-f<la � i• � �ccstl� � � 9,000 � � � I

� 1.(4;(!.cstTct 

66. � tn 3}2.citlc-1 -e � � �
s_3TI t ?
(A) f 11,000
(B) f 12,000
(C) f 13,500
(D) f 14,000

&5. The difference in ages of two boYs 120 years. Five years ago, the age of Olde
boy is five times the age of younger boy�heir present ages are respectively

(A) 30 years, 10 years

(B) 25 years, 5 years

(C) 29 years, 9 years

(D) 40 years, 20 years

Directions for Question Nos. 66, 67 and 68The following Pie-chart represents thamount spent on different sports by a scho<adminiStration in an year a.ndthe money spe!• on football is t 9,000.

66. How much more amount is spent orhockey than on football?)A) f 1

(B) f 12,000
(C) f 13,500
(D) f 14,000



67� � � � 'si3ll ¥ cxm t 

(A) t 84,000

(8) t 72,000

(C) t 60,500

(D) t 55,000

68. ��'si3ll�i

(A) t 30,000 

(8) z 31,000

(C) t 31,500

(D) � 32,000

69. -qfq���-ij K, Lafu: M 1i6fcilcfiiPar

� I M, N 31tt R {1i1 .. H�R � ; L, M 31tt N

�ra:qM t � K, N q R q�Hdl � I �

�-ij �'�al q6�dl 3fu: � 1ft 1i6fcilcf>iaft'

�t 

2-D

(A) .ffl K >t

(8) L 3lR R

(C) M3lttN

67. Total money spent on all the sports is

(A) t 84,000

(8) t 72,000

(C) t 60,500

(D) t 55,000

68. Money spent on cricket is

J 

(A) t 30,000

(8) t 31,000

(C) t 31,500

(D) t 32,000'

69. In a group of five people K, Land M

are ambitious. M, N and Rare honest.

L, M and N are intelligent, K, N and

R are industrious. Out of this group

the person(s) who is (are) neither

industrious nor ambitious is (are)

(A) Only K

(8) Land R

(C) _Mand N

, .

. .

. .

. 



71. 

12. 

2-D

(A) �

(8) �

(C) �

(D) �

3TB1@�q,1� 

(A) �

(B) �

(C) :mT

(D) �

� -ij � � � � i

(A) �

(B) �

(C) �

(D) 

[ 34] 

13. "m;JT-"&R t 19-�, cttt-� mcm

1llf' � � �-�' lffiPR t fum:r

WTTll 11" �l�..flc11 � � 39Utfd � �
-q�-m-mt?

(D) �W

74. 3m������-cffffi

(A)�

(B) �

(C) �

(D) �

75. '�'-q"3tlB1Tt

(A) 3TT

(B) u

(C) �



(A) 3q{)c@ 3-lcfri(OI q;1 3q1c@ �

R,\f@l( I

• (B) -3,q{)c@ 3Fi4ci(Ot q;l 3q1c@ �

R,\f@Q. I 

. (C) 3q:(}c@ 3-lclci{OI ef>T 3q1cfa � 

f�f@Q. I 

(D) 341c@ �clci{OI cfiT 341cfd �

f�fu:Jl( I

2-D 

(D) 0141<!.R

(A) Wil

(8) �

(C) m

(D) �

[ 35] 

(C) �m-T� mmt I

(D) � m-T 3lfHT � mm t I- -

(A) 01

(8) 02

� 03 

(D) 04



82. � 3TTWTI: � � 3TT� � ��m� ft;Tftl

-it Rif©a � � �ru, "lltl c€l mm��

� -q �chi( ml �

(A) 15 � 1947�

(B) 14 fuctkl( 1949 �

(C) 26� 1950cf>l

(D) 26 � 1949 "chl

. J§l- 3Tio 3lTTR � �

(C) 3Tio cf>1:r wr �

@ 'W"J:J'�,�"J:J'�'�qif�cfflli?

(A)� 

(B) (lct(l-11

2-D ( 36] 

(A) 31m

(B) �

(A) ��3WT I
C)

�\ 
,(B) <1im�= � .
(� <1im� � 31WI

(D) 39-0cffi °it -a � �

87. 3WcR���u-dh-1J1� ttcf>1;r-m�
Sl't:4ft'ict � ?

(C) llnl



as. ��i 

�
@i:fl(•p1{1 �lclll "1lft -aj'tFII" ef>I � �

(A) ��

(D) �cnBT

90. ���t��lfRcli�
cf,IWWJmoTt?

2-D

(A)�

(8) q;)

• (C) "H

91. ���t

(A) TfTfT

(B) �

(C) fum

(D) ��

(A) gm

(8) t@@ 

(C) �

93. '1l�l'����"B"��

moT t ? .

(B) ��lTIGJ� 



(A)�

<fBt �4..fli:f

(C} �

(D) �

95. '"cfiim � �' -ij � t
(A)�

(8) �

(C) �

/4) ffl

96. 22 � 2018 � �ij1{1'1� � 3WWf
IDU 0-d1(11t<tl � l=li-1ch\q:;<or t � <i��O;q
zj,i)tSJt cnr � � � � � �
�"(1!(11f<t) � � �' � � t �
��ef•1fJl{lfFrfq-�52'qlJTT��
� c6G cnr � l14(-iut@ -a tJ1fur
s_3TI � ? 

(A) fite11'.-t�t:

(B) �r.hl�< 

(C) �•l<c:1g;�

97. 1:ft + 3H = -qJq;J -ij cf>1;J --{fr � i ?
(A)���

(8) ���

(C) ���

!91'���

(A)�-
(8) �

(C) �

(D) mf

99. '�' � � '1H�tffr � "ffi1J��? 

��

'(8) � 

(C) �

100. ''lie,1fi@• � '1f'IT ii� if��t? 

�A)� 

(B) �

(C) �

(D) �


